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00000000micro-MLOO (000O000000OMLOOOODOO0)00000000000000000
00000000000000000000
1-a. 000 00FibonacciO0 f(00D00f(1) = f(2)=1000 2>2000 20000 f(z) = f(z—2)+f(z—1)
00000)000000f4) 0000000000 (00 OCaml, 00 micro-ML)0000000000000
00<«00000000000000000000000000000
0000000000000000000000000000 (eva) 00000000 f4) 00000000
00000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000
x> 10, z»20]0 000000

let rec f x = Letfun("f", "x",

i _ If (Prim("<=", Var("x"), CstI(2)),

if x <= 2 then 1 CstI(1),

else f (x-2) + f (x-1) Prim("+",Call(Var("£"),Prim("-",Var("x"),CstI(2))),
) Call(Var("f"),Prim("-",Var("x"),CstI(1))))),
in f 4 Call(Var("£"),CstI(4)))

1-b. 000000000 OOOOUOD f4OOUDOOOUODDOO (D0 +)U000O0UDODOOOUOOOOOO
ooooo
l-c. 0000000000 DO0OUOOOO0OO0 (0 micro-MLOOOOOO)0 g0O0O0 AOOODO

glx)=x+xx+xx2+1
h(z) =13

0000000000 g(g(4) 000 h(g4)00000000(1)0000000000000()000000
00000000(3)00000000000000030000000000000000000000000
000 (g(g(4)) 0 h(g(4)0 200000030000000000060000000000000)

1-d. 0000 micco-MLOOOO00000000000000000000000 miccoML+0000000
0000000000000000000000000000000 (00 OCamlOO000000 micro-ML+
oooo)

let x = 3 in Let("x", CstI(3),
_ . Letfun("f","y",Prim("+",Var("x"),Var("y")),
letfy=x+yin Let ("x", CstI(5),
let x = 5 in Letfun("g","z",Prim("+",Var("x"),Call(Var("f"),Var("z"))),
) Let ("x", CstI(7),
let gz=x+ (f 2) in Call(Var(""),Call (Var("g"),CstI(20))))))))
let x = 7 in
£ (g 20)

000000000000000000000000000000 f(g20)0000000000000000
00000000000 (000)000000000000000 Clesure(...)00000000000000
l-e. 000000000000000000D00000O0000O0000000000000000(0O000
0ooooo)
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ng 000000000 @O000000) System.out.println(s) 0 000 sO00OO00O0OO00O0OO0OOO

ClassB O ClassA 000 000DOOtoString, foo OO0 DD OODO0OOOO0OOOpublicO000DO0ODOODOOOO
oooo

cl

}
cl

}

ass ClassA {

public String toString () { return "ClassA"; }

public String foo () { return "A-foo"; }

public String goo () { return "A-goo"; }

ClassA () {} // construcing an object of ClassA
ass ClassB extends ClassA { // inheritance

public String toString () { return "ClassB"; } // overwrite
public String hoo () { return "B-hoo"; }

public String foo (String s){ return "B-foo"; } // overload
ClassB () {} // construcing an object of ClassB

2-a. 00000000000 OOCOODOOOOOODOOO0ODODOO0ODODOO0OD testN-MOODOODOODDO
000000000000 () 000000000 o0oUO(?)00o0o00o0bLDOoUO0O@B)oooDoUoooDoO

good
good
oood

cl

3

2-b. 0000000 (D0O0OUO0O)00O0O0O0O0O0OUOOUOOOOOUOOUOCOOOOOOUO0OOOOO

good

OO0000O0D00OSystem.out.printin 0000000000000 00O0O00O0O0O0OOOCOOOOO
00000 test2-1 000000000000 0ODOOOOODOOOOODOO0O0OODOO0OO0OO0 test2-20
obooobooooooobooonog

ass Testl {
public static void main(String args([]) {
ClassA a; ClassB b;

ClassA a2; ClassB b2;
new ClassA();

// declare variables

a = // create an object of ClassA and store it in a

b = new ClassB();
System.out.println(b.foo()); // testl-1
System.out.println(b.foo("abc")); // testl-2
System.out.println(b.goo()); // test1l-3
a2 = b; // test2-1
System.out.println(a2.toString()); // test2-2
System.out.println(a2.foo()); // test2-3
System.out.println(a2.hoo()); // test2-4
b2 = a; // test3-1
System.out.println(b2.toString()); // test3-2
System.out.println(b2.foo()); // test3-3
System.out.println(b2.hoo()); // test3-4
}
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000000000000000(0000000000000000)0000000000(YES/NO OO
000000000000000000000000000)000000000 bool, 1000 int0000
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3-a.

3-b.

00000000 (000: 000000 f000000000000000000000000 A— B
0ooooo)

(micro-ML4+000)

Letfun(“f","x",
Prim("*",CstI(2),Call(Var("f") ,Prim("+",Var("x"),CstI(3)))),
Var("f"))

(OCamlO0O0O) let rec £ x = 2 * f (x + 3) in f

oooooooo
(micro-ML4+000) Letfun("f","x",Prim("+",Var("x"),CstI(1)),Call(Var("f") ,Var("£")))

(OCamlO0OO)1let £f x =x + 1 in f £

. 00000000 (DUoooOoooooooon)

(micro-ML4+000)

Letfun("f","x",Var("x"),
If(Call(Var("f"),CstB(true)),
Call(Var("f"),CstI(10)),
Call(Var("£f"),CstI(20))))

(OCamlO0O0O) let £ x = x in if (f true) then (f 10) else (f 20)

04. (00 240)
0D000000300000000003000000000(40000000000000000000 30
0ooo)

4-a DO00ODOO0O0ODOOODOOOOOOOODOOODOO0ODOOOOODOOODOOODOOODOODODOObOOObLO

4-b.

4-d.

ubooobooooboboooboobooooond
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go.



